ON THE VALUES OF A ZETA FUNCTION AT NON-POSITIVE INTEGERS

CHONG-HSIO FANG AND MINKING EIE

Let

$$\tilde{\zeta}(s) = \sum_{g_1=1}^{\infty} \sum_{g_2=1}^{\infty} \sum_{g_3=0}^{\infty} [g_1g_2 + (g_1 + g_2)g_3]^{-s}, \qquad \text{Re}\, s > \frac{3}{2}\,,$$

be the zeta function associated with the principal Delaunay-Voronoi cone. A general theory asserts that $\tilde{\zeta}(s)$ has an analytic continuation which is holomorphic in the whole complex plane except possible poles at s = 3/2, s = 1 and s = 1/2. In this paper, we shall compute the values of $\tilde{\zeta}(s)$ at non-positive integers. It is not surprising to see that these values are rational numbers and can be expressed explicitly in terms of Bernoulli numbers; i.e.

$$\tilde{\zeta}(-m) = -\frac{1}{2} \left(\frac{B_{m+1}}{m+1} \right)^2 + (-1)^{m+1} \frac{B_{2m+2}(1+2^{2m+2})}{2^{2m+1}(2m+2)^2} + \frac{\delta_{0m}}{4}.$$

1. Introduction and the main theorem. Let

(1)
$$\tilde{\zeta}(s) = \sum_{g_1=1}^{\infty} \sum_{g_2=1}^{\infty} \sum_{g_3=0}^{\infty} [g_1g_2 + (g_1 + g_2)g_3]^{-s}, \quad \text{Re}\, s > 3/2,$$

be the zeta function associated with the principal Delaunay-Voronoi cone Ω (see [5]) as defined by

(2)
$$\Omega = \left\{ \begin{bmatrix} \lambda_1 + \lambda_3 & -\lambda_3 \\ -\lambda_3 & \lambda_2 + \lambda_3 \end{bmatrix} | \lambda_1, \lambda_2, \lambda_3 \ge 0 \right\}.$$

By the general theory as in [7], this zeta function is absolutely convergent for $\operatorname{Re} s > 3/2$ and hence it defines a holomorphic function of a complex variable s. Furthermore, $\tilde{\zeta}(s)$ has an analytic continuation which is holomorphic in the whole complex plane except possible poles at s = 3/2, s = 1 and s = 1/2.

In this paper, we shall prove the following

MAIN THEOREM. For any integer m with $m \ge 0$, $\tilde{\zeta}(-m)$ is a rational number. More precisely,

$$\tilde{\zeta}(-m) = -\frac{1}{2} \left(\frac{B_{m+1}}{m+1}\right)^2 + (-1)^{m+1} \frac{B_{2m+2}(1+2^{2m+2})}{2^{2m+1}(2m+2)^2} + \frac{\delta_{0m}}{4}.$$

Here δ_{0m} is the Kronecker delta function and the Bernoulli numbers B_m $(m \ge 1)$ are defined by

$$\begin{bmatrix} \frac{t}{e^t - 1} = 1 + \sum_{m=1}^{\infty} \frac{B_m t^m}{m!}, & |t| < 2\pi, \\ B_0 = 1. \end{bmatrix}$$

2. The integral expression of $\tilde{\zeta}(s)$. To obtain an integral expression for $\tilde{\zeta}(s)\Gamma(s)\Gamma(s-\frac{1}{2})\pi^{1/2}$, we need the following lemma.

LEMMA 1. Let Y be the variable of 2×2 real symmetric matrix, and G be a 2×2 positive definite symmetric matrix. Then we have, for $\text{Re } s \ge 3/2$,

$$\int_{Y>0} (\det Y)^{s-3/2} e^{-\operatorname{tr}(YG)} dY = (\det G)^{-s} \pi^{1/2} \Gamma(s) \Gamma(s-1/2).$$

Here Y > 0 means that Y is positively definite.

Proof. See p. 226 of [1].

PROPOSITION 1. For Res > 3/2, we have

$$\tilde{\zeta}(s)\Gamma(s)\Gamma(s-1/2)\pi^{1/2}$$

 $= 2\int_{0}^{\infty} u^{2s-4} du \int_{0}^{1} (1-r^{2})^{s-3/2} r dr$
 $\times \int_{0}^{2\pi} u^{3}[(e^{u(1+r\sin\theta)}-1)$
 $\times (e^{u(1-r\sin\theta)}-1)(1-e^{-2u(1-r\cos\theta)})]^{-1}d\theta.$

Proof. For Re s > 3/2, by Lemma 1, we have $\tilde{\zeta}(s)\Gamma(s)\Gamma(s-1/2)\pi^{1/2}$ $= \sum_{g_1=1}^{\infty}\sum_{g_2=1}^{\infty}\sum_{g_3=0}^{\infty}\int_{Y>0} (\det Y)^{s-3/2} \exp\{-y_1g_1 - y_2g_2$

$$= \int_{Y>0} (\det Y)^{s-3/2} [(e^{y_1} - 1)(e^{y_2} - 1)]^{-1} dy_1 dy_2 dy_{12}$$
$$\times (1 - e^{-y_1 - y_2 + 2y_{12}})]^{-1} dy_1 dy_2 dy_{12}.$$

By changing of variables: $u = (y_1 + y_2)/2$, $v = (y_1 - y_2)/2$, $w = y_{12}$; the integral is transformed into

$$2\int_{u^2-v^2-w^2>0, u>0} (u^2-v^2-w^2)^{s-3/2} \\ \times [(e^{u+v}-1)(e^{u-v}-1)(1-e^{-2u+2w})]^{-1} \, du \, dv \, dw.$$

202

Let
$$v = up$$
, $w = uq$ and let $p = r \sin \theta$, $q = r \cos \theta$. Then
 $\tilde{\zeta}(s)\Gamma(s)\Gamma(s-1/2)\pi^{1/2}$
 $= 2\int_0^\infty u^{2s-4} du \int_0^1 (1-r^2)^{s-3/2} r dr$
 $\times \int_0^{2\pi} u^3 [(e^{u(1+r\sin\theta)} - 1)(e^{u(1-r\sin\theta)} - 1) + (1-e^{-2u(1-r\cos\theta)})]^{-1} d\theta$

as asserted.

Let

$$F(u, r) = \int_0^{2\pi} u^3 [(e^{u(1+r\sin\theta)} - 1)(e^{u(1-r\sin\theta)} - 1) \times (1 - e^{-2u(1-r\cos\theta)})]^{-1} d\theta$$

and

$$I(s, u, F) = \frac{1}{\Gamma(s-1/2)\pi^{1/2}} \int_0^1 (1-r^2)^{s-3/2} r F(u, r) dr.$$

I(s, u, F) as a function of s, is holomorphic for all $s \neq 1$ since it is a quotient of two generalized functions in s which has simple poles at negative half integers [7].

Denote by $L(\varepsilon)$ the contour in the complex plane consisting of the interval $[\varepsilon, +\infty)$ twice, in both directions (in and out) and the circle $|z| = \varepsilon$ in counterclockwise direction. Then the integral expression of $\tilde{\zeta}(s)\Gamma(s)$ can be transformed into a contour integral of the form

$$2(e^{4\pi i s}-1)^{-1}\int_{L(\varepsilon)}u^{2s-4}I(s, u, F)\,du.$$

With the functional equation of gamma function $\Gamma(s)\Gamma(1-s) = 2\pi i e^{\pi i s} (e^{2\pi i s} - 1)^{-1}$, we get

$$\tilde{\zeta}(s) = 2\Gamma(1-s)e^{-\pi i s}(e^{4\pi i s}-1)^{-1}\frac{1}{2\pi i}\int_{L(\varepsilon)}u^{2s-4}I(s, u, F)\,du.$$

This gives the analytic continuation of $\tilde{\zeta}(s)$.

PROPOSITION 2. For all
$$s \in C - \{\pm 1/2, \pm 3/2, ...\}$$
, we have
 $\tilde{\zeta}(s) = 2\Gamma(1-s)e^{-\pi i s}(e^{2\pi i s}+1)^{-1}\frac{1}{2\pi i}\int_{L(\varepsilon)}u^{2s-4}I(s, u, F)\,du$

where

$$I(s, u, F) = \frac{1}{\Gamma(s-1/2)\pi^{1/2}} \int_0^1 (1-r^2)^{s-3/2} r F(u, r) dr$$

with

$$F(u, r) = \int_0^{2\pi} u^3 [(e^{u(1+r\sin\theta)} - 1)(e^{u(1-r\sin\theta)} - 1) \times (1 - e^{-2u(1-r\cos\theta)})]^{-1} d\theta.$$

REMARK. From the analytic continuation of $\tilde{\zeta}(s)$ given in Proposition 2, it seems that it might also have possible poles at negative half integers. However these poles can be eliminated by the gamma function appearing in the expression of I(s, u, F). In fact, $\tilde{\zeta}(s)$ is analytic at negative half integers; but it is hard to see from our formula.

3. The values of $\tilde{\zeta}(s)$ at non-positive integers. The analytic continuation of I(s, u, F) was given in a more general context in [3]. When s is a non-positive integer, the value $\tilde{\zeta}(s)$ depends only on the continuation of I(s, u, F) when $|u| < \varepsilon$, due to the fact that the contour integral along $[\varepsilon, +\infty]$ twice in opposite direction cancel each other. Furthermore, these values can be obtained by the theorem of residue.

PROPOSITION 3. The values of $\tilde{\zeta}(s)$ at s = 0, -1, -2, ..., -m, ..., are rational numbers and

$$\tilde{\zeta}(-m) = -\frac{\Gamma(2m+2)}{2^{2m+1}\pi}N(-m)$$

where

$$N(s) = \int_0^1 (1 - r^2)^{s - 3/2} r \, dr \int_0^{2\pi} Q_{2m+3}(r, \theta) \, d\theta \,, \qquad \text{Re}\, s > 1 \,,$$

with

$$\begin{aligned} Q_{2l+1}(r,\theta) \\ &= \frac{1}{2} \sum_{k=0}^{l} \frac{B_{2(l-k)} B_{2k}}{(2l-2k)! (2k)!} [(1+r\sin\theta)^{2l-2k-1} (1-r\sin\theta)^{2k-1} \\ &\quad -(1+r\sin\theta)^{2l-2k-1} (2-2r\cos\theta)^{2k-1} \\ &\quad -(1-r\sin\theta)^{2l-2k-1} (2-2r\cos\theta)^{2k-1}] \\ &\quad +\frac{1}{8} \delta_{1l} \quad (\delta_{ij} \text{ is the Kronecker's delta function}). \end{aligned}$$

Proof. We have

$$\tilde{\zeta}(-m) = 2\Gamma(1+m)(-1)^{m-1} \frac{1}{2\pi i} \int_{L(\varepsilon)} u^{-2m-4} I(-m, u, F) \, du.$$

204

In order to compute $\tilde{\zeta}(-m)$, we must find the coefficient of u^{2m+3} in the power expansion of I(-m, u, F). For $|u| < \pi/2$, we have

$$\frac{u}{e^{u(1+r\sin\theta)}-1} = \frac{1}{1+r\sin\theta} - \frac{u}{2} + \sum_{n=1}^{\infty} \frac{B_{2n}(1+r\sin\theta)^{2n-1}u^{2n}}{(2n)!},$$
$$\frac{u}{e^{u(1-r\sin\theta)}-1} = \frac{1}{1-r\sin\theta} - \frac{u}{2} + \sum_{n=1}^{\infty} \frac{B_{2n}(1-r\sin\theta)^{2n-1}u^{2n}}{(2n)!},$$
$$\frac{u}{1-e^{-2u(1-r\cos\theta)}} = \frac{1}{1-r\cos\theta} - \frac{u}{2} + \sum_{n=1}^{\infty} \frac{B_{2n}(2+2r\cos\theta)^{2n-1}u^{2n}}{(2n)!}.$$

The coefficient of u^{2m+3} in the power expansion of

$$u^{3}[(e^{u(1+r\sin\theta)}-1)(e^{u(1-r\sin\theta)}-1)(1-e^{-2u(1-r\cos\theta)}]^{-1}]$$

is $Q_{2m+3}(r, \theta)$, which is a *Q*-linear combination of functions of following types:

$$F_1(r, \theta) = (1 + r \sin \theta)^{m_{11} - 1} (1 - r \sin \theta)^{m_{12}} (1 - r \cos \theta)^{m_{13}},$$

$$F_2(r, \theta) = (1 + r \sin \theta)^{m_{21}} (1 - r \sin \theta)^{m_{22} - 1} (1 - r \cos \theta)^{m_{23}},$$

$$F_3(r, \theta) = (1 + r \sin \theta)^{m_{31}} (1 - r \sin \theta)^{m_{32}} (1 - r \cos \theta)^{m_{33} - 1},$$

where m_{ij} (i, j = 1, 2, 3) are positive integers or zero. Integrating with respect to θ from 0 to 2π , we get

$$\int_{0}^{2\pi} F_{j}(r, \theta) d\theta = 2\pi P_{j}(r^{2}) \text{ if } m_{jj} \ge 1,$$
$$= \frac{2\pi Q_{j}(r^{2})}{\sqrt{1-r^{2}}} + 2\pi R_{j}(r^{2}) \text{ if } m_{jj} = 0,$$

where $P_j(X)$, $Q_j(X)$ and $R_j(x)$ are polynomials. Thus the coefficient of u^{2m+3} in I(-m, u, F) is a Q-linear combination of integrals of the forms

$$\frac{2\pi}{\Gamma(-m-1/2)\pi^{1/2}}\int_0^1(1-r^2)^{-m-3/2}rP_j(r^2)\,dr\,,\\ \frac{2\pi}{\Gamma(-m-1/2)\pi^{1/2}}\int_0^1(1-r^2)^{-m-2}rQ_j(r^2)\,dr.$$

The values of continuations of these integrals are rational numbers. Consequently, the value $\tilde{\zeta}(-m)$ is a rational number. 4. On the explicit values of N(-m) and the proof of the main theorem. In this section, we shall prove that almost all terms in $Q_{2m+3}(r, \theta)$ have zero contribution to N(-m). The contributions from remaining terms will be computed one by one. Finally, we obtain the explicit expression of $\tilde{\zeta}(-m)$ as shown in Main Theorem.

PROPOSITION 4. For non-negative integers p and q, not both 0, define

$$F_{p,q}(s) = \int_0^1 (1-r^2)^{s-3/2} r \, dr \int_0^{2\pi} (1+r\sin\theta)^{2p-1} (1-r\sin\theta)^{2q-1} d\theta$$
(Res > 1).

Then $F_{p,q}(s)$ is a rational function with simple poles at $s = \frac{1}{2}, -\frac{1}{2}, \dots, \frac{3}{2} - p - q$ (and also at s = 1 if p or q is zero) and vanishes at s = 1 - p - q unless p = q, in which case

$$F_{p,p}(1-2p) = -2\pi(4p-2)(4p-4)\cdots 2/(4p-1)(4p-3)\cdots 3.$$

Proof. Changing from polar coordinate to linear coordinate, $r \cos \theta = x$, $r \sin \theta = y$; we find

$$F_{p,q}(s) = \iint_{x^2 + y^2 < 1} (1 + y)^{2p-1} (1 - y)^{2q-1} (1 - x^2 - y^2)^{s-3/2} \, dx \, dy.$$

With $t = x/\sqrt{1-y^2}$ as a new variable in place of x, then

$$\begin{split} F_{p,q}(s) &= \int_{-1}^{1} (1+y)^{s+2p-2} (1-y)^{s+2q-2} \, dy \int_{-1}^{1} (1-t^2)^{s-3/2} \, dt \\ &= 2^{2s+2p+2q-3} \int_{0}^{1} u^{s+2p-2} (1-u)^{s+2q-2} \, du \\ &\times \int_{0}^{1} v^{-1/2} (1-v)^{s-3/2} \, dv \qquad \left(u = \frac{y+1}{2}, v = t^2\right) \\ &= 2^{2s+2p+2q-3} \frac{\Gamma(s+2p-1)\Gamma(s+2q-1)\Gamma(s-1/2)\Gamma(1/2)}{\Gamma(2s+2p+2q-2)\Gamma(s)} \end{split}$$

This explicit evaluation holds for any complex number p and q (and Re s sufficiently). The statements of the proposition follow easily when p and q are non-negative integers: it is clear that the poles are as stated and that $F_{p,q}(1-p-q) = 0$ for $p \neq q$, since in that case both $\Gamma(s)$ and $\Gamma(2p+2q+2s-2)$; but only one of $\Gamma(2p+s-1)$ and $\Gamma(2q+s-1)$, have simple poles at s = 1-p-q, while for p = q all

206

four of these gamma functions have poles and we obtain the formula given in the proposition by comparing residues.

PROPOSITION 5. For non-negative integers p and q, not both 0, define

$$G_{p,q}(s) = \int_0^1 (1-r^2)^{s-3/2} r \, dr \int_0^{2\pi} (1-r\cos\theta)^{2p-1} (1-r\sin\theta)^{2q-1} \, d\theta$$
(Res > 1).

Then $G_{p,q}(s)$ is a rational function with simple poles at $s = \frac{1}{2}, -\frac{1}{2}, \dots, \frac{5}{2} - p - q$ (and also at $s = 1, 0, \dots, 2 - p - q$ if p or q is zero) and vanishes at s = 1 - p - q unless p = q or p or q is zero, in which case

$$G_{p,q}(1-p-q) = \begin{cases} -2^p(p-1)!\pi/(4p-1)(4p-3)\cdots(2p+1), & \text{if } p = q, \\ (-1)^{p+q}\pi/(p+q), & \text{if } p = 0 \text{ or } q = 0, \\ 0, & \text{otherwise.} \end{cases}$$

Proof. We have

$$G_{p,q}(s) = \iint_{x^2 + y^2 < 1} (1 - x)^{2p - 1} (1 - y)^{2q - 1} (1 - x^2 - y^2)^{s - 3/2} \, dx \, dy.$$

Suppose that $p \ge 1$ and expand $(1-x)^{2p-1}$ by the binomial theorem. Then $G_{p,q}(s)$ is a sum of double integrals with an inner integral of the form

$$\int_{-a}^{a} x^{m} (a^{2} - x^{2})^{s-3/2} dx \qquad \left(a = \sqrt{1 - y^{2}}\right),$$

which is 0 for odd m. For m = 2j, we have

$$\int_{-a}^{a} x^{2j} (a^2 - x^2)^{s-3/2} \, dx = \frac{\Gamma(j+1/2)\Gamma(s-1/2)a^{2j+2s-2}}{\Gamma(s+j)}$$

Hence

$$G_{p,q}(s) = \sum_{j=0}^{p-1} {\binom{2p-1}{2j}} \frac{\Gamma(s-1/2)\Gamma(j-1/2)}{\Gamma(s+j)}$$
$$\cdot \int_{-1}^{1} (1-y)^{s+2q-j-2}(1+y)^{s+j-1} dy$$
$$= \sum_{j=0}^{p-1} \frac{(2p-1)!\pi}{2^{2j}j!(2p-2j-1)!} \cdot \frac{\Gamma(s-1/2)}{\Gamma(s+q+j-1/2)}$$
$$\cdot \frac{\Gamma(s+2q+j-1)}{\Gamma(s+q+j)}.$$

The second factor in the *j*th summand has poles at half integers between $\frac{1}{2}$ and $\frac{3}{2} - q - j \ge \frac{5}{2} - p - q$. The third factor in the *j*th summand is a polynomial (unless q = 0, when it equals 1/(s+j-1)) which vanishes at s = 1 - p - q for all *j* if q > p and for all *j* except j = 0 if q = p. This leads to the assertions of the proposition. When p > q = 0, the value of G at s = 1 - p - q is given by

$$G_{p,0}(1-p) = \sum_{j=0}^{p-1} \frac{(2p-1)!\pi}{2^{2j}j!(2p-2j-1)!} \cdot (-1)^j \frac{\Gamma(p-j+1/2)}{\Gamma(p+1/2)} \cdot \frac{-1}{p+j}$$
$$= \pi \sum_{j=0}^{p-1} \frac{(-1)^{j+1}(p-1)!}{j!(p-j)!} = \frac{(-1)^p\pi}{p}.$$

The proof of the main theorem. Note that the function N(s) in Proposition 3 is a linear combination of $F_{p,q}(s)$ and $G_{p,q}(s)$ with p+q=m+1. More precisely, we have

$$N(s) = \frac{1}{2} \sum_{p+q=m+1, 0 \le p \le m+1} \frac{B_{2p} B_{2q}}{(2p)! (2q)!} [F_{p,q}(s) - 2^{2p} G_{p,q}(s)] + \frac{\delta_{0m}}{8(s-1/2)}.$$

If m is a positive even integer, then $p \neq q$. Since

$$\begin{split} F_{p,q}(-m) &= F_{p,q}(1-p-q) = 0, \quad \text{for } p \neq q, \\ G_{p,q}(-m) &= G_{p,q}(1-p-q) = 0, \quad \text{for } p \neq q, \, p \neq 0, \, q \neq 0, \end{split}$$

it follows

$$N(-m) = \frac{B_{2m+2}}{2(2m+2)!} [-2^{2m+2}G_{m+1,0}(-m) - G_{0,m+1}(-m)]$$
$$= \frac{(-1)^m B_{2m+2}(2^{2m+2}+1)\pi}{(2m+2)(2m+2)!}.$$

If m is a positive odd integer, then it is possible that p = q = (m+1)/2. Hence

$$\begin{split} N(-m) &= \frac{B_{2m+2}}{2(2m+2)!} [-2^{2m+2} G_{m+1,0}(-m) - G_{0,m+1}(-m)] \\ &+ \frac{1}{2} \left(\frac{B_{2m+1}}{(m+1)}\right)^2 [F_{(m+1)/2,(m+1)/2}(-m) \\ &- 2^{m+1} G_{(m+1)/2,(m+1)/2}(-m)] \\ &= \frac{(-1)^m B_{2m+2}(2^{2m+2}+1)\pi}{(2m+2)(2m+2)!} \\ &+ \frac{1}{2} \left(\frac{B_{2m+1}}{(m+1)!}\right)^2 \left\{\frac{-2\pi (2^m m!)^2}{(2m+1)!} + \frac{4\pi (2^m m!)^2}{(2m+1)!}\right\} \\ &= \frac{(-1)^m B_{2m+2}(2^{2m+2}+1)\pi}{(2m+2)(2m+2)!} + \frac{1}{2} \left(\frac{B_{2m+1}}{m+1}\right)^2 \cdot \frac{2^{2m+1}\pi}{(2m+1)!}. \end{split}$$

But $B_l = 0$ if l is a positive odd integer greater than 1. Consequently, we have for any positive integer m,

$$N(-m) = \frac{(-1)^m B_{2m+2}(2^{2m+2}+1)\pi}{(2m+2)(2m+2)!} + \frac{1}{2} \left(\frac{B_{2m+1}}{m+1}\right)^2 \cdot \frac{2^{2m+1}\pi}{(2m+1)!}.$$

Hence

$$\begin{split} \tilde{\zeta}(-m) &= -\frac{(2m+1)!}{2^{2m+1}\pi} N(-m) \\ &= -\frac{1}{2} \left(\frac{B_{2m+1}}{m+1} \right)^2 + \frac{(-1)^{m+1} B_{2m+2}(2^{2m+2}+1)}{2^{2m+1}(2m+2)^2}. \end{split}$$

For the case m = 0, a direct computation from Proposition 3 yields

$$\tilde{\zeta}(0) = \frac{1}{48}.$$

Acknowledgment. The authors wish to thank the helpful suggestions from the referee.

References

- [1] W. L. Baily, Jr., Introductory Lectures on Automorphic Forms, Princeton University Press (1973).
- [2] Minking Eie, A zeta-function associated with zero ternary forms, Proc. Amer. Math. Soc., 94 (1985), 387-392.
- [3] A. Kurihara, On the values at non-positive integers of Siegel's zeta functions of Q-anisotropic quadratic forms with signature (1, n-1), J. Fac. Sci. University of Tokyo. Sect. 1A Math., 28 (1981), 567–584.

- [4] H. Mellin, Eine Formel für den Logarithmus transcendenter Functionen von endlichen Geschlecht, Acta Soc. Sci. Fennicae, **29** (1900), 3–49.
- [5] Y. Namikawa, *Toroidal Compactification of Siegel Spaces*, Springer-Verlag Lecture Notes in Math. 812.
- [6] ____, A new compactification of Siegel space and degeneration of abelian varieties. I, Math. Annalen, 221 (1976), 97–141.
- [7] I. Satake, Special values of zeta functions associated with self dual homogeneous cones, manuscript (1981).
- [8] I. M. Gelfand and G. E. Shilov, *Generalized Functions*, Vol. I: Properties and Operations, Academic Press, New York, 1964.
- [9] M. Sato, and T. Shintani, On zeta functions associated with prehomogeneous vector spaces, Ann. of Math., 100 (1974), 131-170.
- T. Shintani, Zeta-functions associated with the vector of quadratic forms, J. Fac. Sci. University of Tokyo. Sect. 1A Math., 22 (1975), 25-65.
- [11] ____, On evaluation of zeta functions of totally real algebraic number fields at non-positive integers, J. Fac. Sci. University of Tokyo, 23 (1976), 393-417.

Received September 19, 1988 and in revised form April 20, 1989. Research supported by Institute of Math. Academia Sinica and N.S.C. of Taiwan, Republic of China.

Institute of Mathematics Academia Sinica Nankang, Taipei 11529 Taiwan, Republic of China